Government of Jammu and Kashmir

OFFICE OF THE SUPERINTENDING ENGINEER HYDRAULIC CIRCLE ANANTNAG/KULGAM

400 A MIT	HQ: ANANTNAG				
	Allotment Order No: 20 of 2022 dated:	29/11/202			
ne: -	M/S Ellahi Construction Prop : Haji Aijaz Ah Allai R/o Khandiphari (Harnag)	11111202			
Regd. No.	02-AAY/SE/HYD/ANG/2007-08				
email ID:	hajiaijaz25@gmail.com,				
Phone No.	7006499124		+=	+	
GSTN:	01AHKPA3664R2Z5	-	+	-	
PAN.	AHKPA3664R	Advertised		F 400 05	
The state of the s	Allotment Order No: 20 of 2022 dated: 29 /11/2022	Alloted Co		₹ 160.85	
Subject:-	Laying/ Fitting of Pipes, Construction of Chain Link Fencing, Intake Chamber under JJM	& Laying/ Fit	ting of P	ipes WSS Cheer	oora Pakhtoonpora
	(ii) 1. Executive Engineer, Jal Shakti, PHE Division, Bijbehara's letter No. PH 17.10.2022. (iii) This office Letter Of Intent No. SE/Hyd/Cors/7802-05 dated 22.10.2022. For & on behalf of Lt. Governor of J&K, contract for above mentioned				34.00
ates, terms a		Job is nere	by fixe	d with you on yo	our following quoted
1	Conditions.		by fixe	d with you on yo	our following quoted
	Description of Work / Item(s)	Quantity	Unit		our following quoted
1	Description of Work / Item(s) Earth work in excavation over areas exceeding 30 cm and upto 1.5 m in depth 1.5 m in width as well as 10 sqm on plan inculding disposal of excavated soil	Quantity			
	Description of Work / Item(s) Earth work in excavation over areas exceeding 30 cm and upto 1.5 m in depth 1.5 m in width as well as 10 sqm on plan inculding disposal of excavated soil upto 1 mt from cutting edge.	Quantity			
1.1	Description of Work / Item(s) Earth work in excavation over areas exceeding 30 cm and upto 1.5 m in depth 1.5 m in width as well as 10 sqm on plan inculding disposal of excavated soil upto 1 mt from cutting edge. a) All Kinds of Soil	Quantity			Amount
	Description of Work / Item(s) Earth work in excavation over areas exceeding 30 cm and upto 1.5 m in depth 1.5 m in width as well as 10 sqm on plan inculding disposal of excavated soil upto 1 mt from cutting edge. a) All Kinds of Soil b) Ordinary Soft Rock	8685.50	Unit	Rate	Amount ₹ 3,786,878.00
1.1	Description of Work / Item(s) Earth work in excavation over areas exceeding 30 cm and upto 1.5 m in depth 1.5 m in width as well as 10 sqm on plan inculding disposal of excavated soil upto1mt from cutting edge. a) All Kinds of Soil b) Ordinary Soft Rock Providing and laying of dry stone soling tightly hand packed on horizontal levels.	8685.50 2084.00 75.40	Unit Cum	Rate ₹ 436.00	₹ 3,786,878.00 ₹ 1,753,894.40
1.1	Description of Work / Item(s) Earth work in excavation over areas exceeding 30 cm and upto 1.5 m in depth 1.5 m in width as well as 10 sqm on plan inculding disposal of excavated soil upto 1 mt from cutting edge. a) All Kinds of Soil b) Ordinary Soft Rock Providing and laying of dry stone soling tightly hand packed on horizontal	8685.50 2084.00 75.40	Cum Cum	Rate ₹ 436.00 ₹ 841.60	₹ 3,786,878.00 ₹ 1,753,894.40

1.1	Jaj Ali Kilius di Soli	8685.50	Cum	₹ 436.00	# 2 70C 070 00
1.2	b) Ordinary Soft Rock	2084.00	Cum		3,786,878.00
2	Providing and laying of dry stone soling tightly hand packed on horizontal levels.	75.40	Cum	₹841.60 ₹616.40	₹ 1,753,894.40 ₹ 46,476.56
3	Providing and laying of 1:4:8 nominal mix cement concrete using 40 mm aggregate excluding cost of centering/ Shuttering	50.44	Cum	₹ 4,861.84	₹ 245,231.21
4	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centring, shuttering, finishing & Reinforcement all work up to plinth level (1:1.5:3) 1 cement, 1.5 course sand, 3 graded stone aggregate 20 mm nominal size)		Cum	₹7,800.76	₹ 24,962.43
5	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth & string courses, fillets, columns, pillars, piers, abutments, posts & struts etc. up to floor five level excluding the cost of centring, shuttering, finishing & reinforcement 1:1.5:3 (1cement, 1.5 Course sand, 3graded crushed stone) aggregate 20mm nominal size.	10.62	Cum	₹ 9,408.14	₹ 99,914.45
6	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15degree, landings, balconies shelves, chajjas, lintels, bands, plan window sills, stair cases and spiral stair cases up to floor five level excluding the cost of centring, shuttering, finishing and reinforcement in 1:1.5:3 mix (1 cement, 1.5 coarse sand, 3graded stone aggregate) 20 mm nominal size.		Cum	₹9,849.35	₹ 8,667.43
7	Centring and shuttering including strutting propping and removal of form work.				₹ 0.00
7.1	a) Foundations	-			
7.2	b) Walls	378.20	Sqm	₹ 262.30	₹ 99,201.86
7.3_	c) Suspended Floors, Roofs, Landings etc	941.96	Sqm	₹ 573.85	₹ 540,543.75
7.4	d) Edges of Slabs & breaks in floor walls	6.25	Sqm	₹ 635.60	₹ 3,972.50
8	12 mm thick cement plaster in 1:3 mix with floating coat of neat cement (1	16.40	R.M	₹ 242.30	₹ 3,973.72
9	cement, 3 fine sand). 15 mm thick cement plaster in 1:6 mix (1 cement, 6 fine sand).	162.93	Sqm	₹ 343.75	₹ 56,007.19
	Providing Reinforcement to RCC works including bending, binding, cutting,	1178.24	Sqm	₹ 278.60	₹ 328,257.66
10	straitening and placing in position complete.	2420.00	Kg	₹87.18	₹ 210,975.60
11	Extra for providing and mixing water proofing material in cement conc work in doses by weight of cement as per manufacturing specifications	120.00	Kg	₹ 57.90	₹ 6,948.00
12	Providing and laying in position specified grade of cement concrete in 1:3:6 Nominal mix using 20 mm aggregate excluding cost pof centering/ shuttering.	42.00	Cum	₹ 5,399.02	₹ 226,758.84
13	Total details steet Works in Dulit up Sections	4288.00	14	English San F	200
14	Providing and fixing of chain link fencing.	4288.00	Kg	₹91.03	F 300 345 20

₹91.03

₹ 733.50



3000	Steel work welded in built up sections/framed work including cutting, hois	ting.			
15	fixing in position and applying a priming coat of approved steel primer.	reina			₹ 37,390.
	structural steel etc. as required, in gratings, frames, guard har lade	lers. 255.	00 Kg	₹ 146.63	
1	railings, brackets, gates & similar works.				
16	Part I have a later to the late				£ 1,464,367.6
10	Providing and laying in position specified grade of cement concrete in 1	2:4 226.5	o Cun	n € 6,465.20	
	nominal mix. Excluding cost of centering/ Shuttering using 20 mm aggregat	e		,	
17	Dismantling of G.I pipes including excavation and refilling trenches a	fter			₹ 0.0
1	taking out the pipes, manually/ by mechanical means including stacking pipes within 50m lead.	of	1	1 1	
17.1	a) Upto 40 mm				
17.2	b) Above 40 mm	750.0		₹ 99.75	₹ 74,812.5
	Providing & Fixing M.S Flanges to old Salvaged pipes including cost of no	900.0	0 Mtr	₹ 110.65	₹ 99,585.0
18	bolts, washers etc complete.	its,			₹ 0.0
18.1	a) 100 mm M.S Flanges				
18.2	b) 80 mm M.S Flanges	333.0		1,500	₹ 506,160.0
18.3	c) 65 mmM.S Flanges	667.0			₹ 733,700.0
		333.00	Pair	₹ 1,000.00	₹ 333,000.0
19	Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excludi	ng 1472.4			₹ 361,547.8
	(cost of pipes)		O Qtl	₹ 245.55	
20	Providing push-on-joints to centrifugally (Spun) Cast Iron Pipes or Ductile Iron	on	\neg	 	200
	Pipes including testing of joints.			1 1	₹ 0.0
20.1	a) 150 mm D.I Pipe	636.00	Joint	₹ 144.70	₹ 92,029.2
20.2	b) 100 mm D.I Pipe	727.00		₹ 89.70	₹ 65,211.9
21	Laying & Fitting of G.I Pipes .	1	25	133.70	₹ 65,211.9
21.1	a) 65 mm G.I Pipe	2000.00	Mtr	₹ 73.05	₹ 146,100.0
21.2	b) 50 mm G.I Pipe	4000.00		₹ 40.80	₹ 163,200.0
21.3	c) 40 mm G.I Pipe	3500.00		₹ 40.80	₹ 142,800.0
21.4	d) 25 mm G.I Pipe	4000.00	_	₹ 30.65	£ 122,600.0
21.5	e) 20 mm G.I Pipe	3000.00		₹ 20.25	₹ 60,750.0
21.6	f) 15 mm G.I Pipe	2000.00		₹ 20.25	₹ 40,500.00
22	Making Connections of G.I branch with G.I main including providing & Fixin	В		120.20	₹ 0.00
22.1	Tees etc Complete. a) Above 40 mm	i i			(0.00
22.2	b) Below 40 mm	20.00	No	₹ 1,268.75	₹ 25,375.00
23		80.00	No	₹ 666.25	₹ 53,300.00
	Back-filling of available excavated soll into the trench excluding rock.	9393.75	Cum	₹ 198.70	₹ 1,866,538.13
24	Providing & Fixing Regulation valves as assets				₹ 0.00
	Providing & Fixing Regulation valves as per site requirement of approved make like Kriloskar, Vag etc including P/F of Tail pieces etc complete			1	
24.1	a) 100 mm Dia Sluice Valve		\perp		
24.2	b) 150 mm Dia Sluice Valve	3.00	No	₹ 13.164.00	₹ 39,492.00
	Structural Steel work in bulit up sections for Providing/Fabricating & Providing	3.00	No	₹ 20,243.00	₹ 60,729.00
25	M.S Bends, Tees as per site requirement to be fabricated at site including hire				₹ 91,744.00
_	charges of DG set, Welding Machine etc complete.	800.00	Kg	₹ 114.68	,
75	Carriage of material from source to dumping site at road by mechanical				
26	transport.				₹ 0.00
	a) Cement/ Steel (15KM)				
	b) Sand (35KM)	116.85	M.T	₹ 303.65	₹ 35,431.50
26.3	c) 20 mm Aggregate (35 km)	151.93	Cum	₹551.33	₹ 83,763.57
26.4	d) 40 mm Aggregate (35km)	227.07	Cum	₹ 501.65	₹ 113,909.67
26.5 e	e) Stone Solling (5 Km average)	42.69	Cum	₹ 599.28	₹ 25,583.26
) 150 mm D.I Pipe (30 Km)	75.40	Cum	₹ 242.67	₹ 18,297.32
26.6	LESVIDIO D.I PIDE ISO Km)	3500.00	Mtr	₹ 18.27	₹ 63,945.00
	1 100 mm C Din - (20 Km)		_		
6.7 g) 100 mm G.I Pipe (30 Km)	4000.00	Mtr	9 10 0cl	
6.7 g,	() 100 mm G.I Pipe (30 Km)) 80 to 15 mm G.I Pipe (30 Km)		Mtr M.T	₹ 10.96	₹ 43,840.00
6.7 g 6.8 h	2) 100 mm G.I Pipe (30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 2) 80 to 20 mm G.I Pipe(30 Km) 2) xtra Carriage of Pipes from nearest dumping site to actual site of work by	4000.00 92.57	Mtr M.T	₹ 10.96 ₹ 445.96	₹ 41,282.52
6.7 g 6.8 h	() 100 mm G.I Pipe (30 Km) 3 80 to 15 mm G.I Pipe(30 Km) 2 xtra Carriage of Pipes from nearest dumping site to actual site of work by nanual labour for				
26.7 g, 6.8 h, 27 m	(2) 100 mm G.I Pipe (30 Km) (3) 80 to 15 mm G.I Pipe(30 Km) (3) 80 to 15 mm G.I Pipe(30 Km) (4) xtra Carriage of Pipes from nearest dumping site to actual site of work by the nanual labour for 10 cement for average lead of 500 Mtr	92.57	M.T	₹ 445.96	₹ 41,282,52 ₹ 0.00
26.7 g. 6.8 h. 27 m 7.1 a) 7.2 b)	2) 100 mm G.I Pipe (30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 2) xtra Carriage of Pipes from nearest dumping site to actual site of work by 2) nanual labour for 3) Cement for average lead of 500 Mtr 4) Steel for average lead of 500 Mtr	92.57 88.43	M.T	₹ 445.96 ₹ 282.10	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10
26.7 g 26.8 h 27 m 7.1 a) 7.2 b) 7.3 c)	2) 100 mm G.I Pipe (30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 3) 80 to 15 mm G.I Pipe(30 Km) 4) 80 to 15 mm G.I Pipe(30 Km) 4) 80 to 15 mm G.I Pipe(30 Km) 6) 8	92.57 88.43 15.28	M.T M.T M.T	₹ 445.96 ₹ 282.10 ₹ 605.96	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ \$,259.07
26.7 g 26.8 h, 27 m 7.1 a) 7.2 b) 7.3 c) 7.4 d)	2) 100 mm G.I Pipe (30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 2) xtra Carriage of Pipes from nearest dumping site to actual site of work by 2) nanual labour for 2) Cement for average lead of 500 Mtr 2) Steel for average lead of 500 Mtr 2) Soling stone for average lead of 500 Mtr 3) Soling stone for average lead of 500 Mtr 3) Soling stone for average lead of 500 Mtr	92.57 88.43 15.28 355.83	M.T M.T Cum	₹ 445.96 ₹ 282.10 ₹ 605.96 ₹ 621.21	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ 9,259.07 ₹ 221,045.15
26.7 g, 26.8 h, 27.1 a) 7.1 a) 7.2 b) 7.3 c) 7.4 d):	2) 100 mm G.I Pipe (30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 3) 80 to 15 mm G.I Pipe(30 Km) 40 mm Aggregate for average lead of 500 Mtr 40 mm Aggregate for average lead of 500 Mtr 40 mm Aggregate for average lead of 500 Mtr	92.57 88.43 15.28 355.83 69.55	M.T M.T Cum	₹ 445.96 ₹ 282.10 ₹ 605.96 ₹ 621.21 ₹ 730.80	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ 9,259.07 ₹ 221,045.15 ₹ 50,827.14
26.7 g, 26.8 h, 27 E, m 7.1 a) 7.2 b) 7.3 c) 7.4 d) 7.5 e) 7.6 f)1	2) 100 mm G.I Pipe (30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 2) xtra Carriage of Pipes from nearest dumping site to actual site of work by 2) nanual labour for 2) Cement for average lead of 500 Mtr 2) Steel for average lead of 500 Mtr 2) Sand & 20mm agg. for average lead of 500 Mtr 3) Soling stone for average lead of 500 Mtr 40 mm Aggregate for average lead of 500 Mtr 45 mm Aggregate for average lead of 500 Mtr 45 mm Aggregate for average lead of 500 Mtr	92.57 88.43 15.28 355.83 69.55 41.88	M.T M.T Cum Cum	₹ 445.96 ₹ 282.10 ₹ 605.96 ₹ 621.21 ₹ 730.80 ₹ 671.55	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ 9,259.07 ₹ 221,045.15
26.7 gg. 26.8 hg. 27 mm 7.1 a) 7.2 b) 7.3 c) 7.4 d) 7.5 e) 7.6 f)1 7.7 g)1	1) 100 mm G.I Pipe (30 Km) 1) 80 to 15 mm G.I Pipe(30 Km) 1) 80 to 15 mm G.I Pipe(10 Mtr) 1) 80 to 15 mm G.I Pipe (10 Mtr) 1) 80 to 15 mm G.I Pipe (10 Mtr) 1) 100 mm G.I for average lead of (10 Mtr) 1) 100 mm G.I for average lead of (10 Mtr)	88.43 15.28 355.83 69.55 41.88 3500.00	M.T M.T Cum Cum Mtr	₹ 445.96 ₹ 282.10 ₹ 605.96 ₹ 621.21 ₹ 730.80 ₹ 671.55 ₹ 13.54	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ 9,259.07 ₹ 221,045.15 ₹ 50,827.14
6.7 g, 6.8 h, 7.1 a) 7.2 b) 7.3 c) 7.4 d) 7.5 e) 7.6 f)1	2) 100 mm G.I Pipe (30 Km) 2) 80 to 15 mm G.I Pipe(30 Km) 2) xtra Carriage of Pipes from nearest dumping site to actual site of work by 2) nanual labour for 2) Cement for average lead of 500 Mtr 2) Steel for average lead of 500 Mtr 2) Sand & 20mm agg. for average lead of 500 Mtr 3) Soling stone for average lead of 500 Mtr 40 mm Aggregate for average lead of 500 Mtr 45 mm Aggregate for average lead of 500 Mtr 45 mm Aggregate for average lead of 500 Mtr	88.43 15.28 355.83 69.55 41.88 3500.00 4000.00	M.T M.T Cum Cum Cum Mtr Mtr	₹ 445.96 ₹ 282.10 ₹ 605.96 ₹ 621.21 ₹ 730.80 ₹ 671.55 ₹ 13.54 ₹ 9.61	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ 9,259.07 ₹ 221,045.15 ₹ 50,827.14 ₹ 28,124.51
26.7 g, 26.8 h, 27 E5, 7.1 a) 7.2 b) 7.3 c) 7.4 d) 7.5 e) 7.6 f) 7.7 g) 7.8 h)	1) 100 mm G.I Pipe (30 Km) 1) 80 to 15 mm G.I Pipe(30 Mtr) 1) 80 to 15 mm G.I (500 Mtr) 1) 100 mm G.I for average lead of 500 Mtr 1) 100 mm G.I for average lead of 500 Mtr 1) 100 mm G.I for average lead of (500 Mtr) 1) 100 mm G.I for average lead of (500 Mtr) 1) 100 mm G.I for average lead of (500 Mtr) 1) 100 mm G.I for average lead of (500 Mtr) 1) 100 mm G.I for average lead of (500 Mtr)	88.43 15.28 355.83 69.55 41.88 3500.00	M.T M.T Cum Cum Mtr	₹ 445.96 ₹ 282.10 ₹ 605.96 ₹ 621.21 ₹ 730.80 ₹ 671.55 ₹ 13.54 ₹ 9.61 ₹ 355.70	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ 9,259.07 ₹ 221,045.15 ₹ 50,827.14 ₹ 28,124.51 ₹ 47,390.00 ₹ 38,440.00 ₹ 32,924.91
26.7 g, 26.8 h, 27 E; 7.1 a) 7.2 b) 7.3 c) 7.4 d) 7.5 e) 7.6 f) 7.7 g) 7.8 h)	1) 100 mm G.I Pipe (30 Km) 1) 80 to 15 mm G.I Pipe(30 Km) 1) 80 to 15 mm G.I Pipe(10 Mtr) 1) 80 to 15 mm G.I Pipe (10 Mtr) 1) 80 to 15 mm G.I Pipe (10 Mtr) 1) 100 mm G.I for average lead of (10 Mtr) 1) 100 mm G.I for average lead of (10 Mtr)	88.43 15.28 355.83 69.55 41.88 3500.00 4000.00 92.57	M.T M.T Cum Cum Cum Mtr Mtr	\$ 282.10 \$ 605.96 \$ 621.21 \$ 730.80 \$ 671.55 \$ 13.54 \$ 9.61 \$ 355.70	₹ 41,282.52 ₹ 0.00 ₹ 24,946.10 ₹ 9,259.07 ₹ 221,045.15 ₹ 50,827.14 ₹ 28,124.51 ₹ 47,390.00





	Alloted Amount ₹ 16,406,855.00
erms & Co	Inditions
	The cost of work should in no case exceed beyond Rs. 1,64,06,855/= (Rupees One Crore Sixty Four Lac Six Thousar Eight Hundred Fifty Five Only)
2	The overall payment under the contract will be restricted to DAP/DPR provision.
3	This letter of allotment & your tender will constitue a legal contract document and the conditions laid down in the detaile NIT/Form No.25-double will hold good and binding upon you.
4	You have to attend the Divisional/Circle Office along with your enlistment card for drawl of agreement . However non-drawl of agreement will not prevent the contract from being enforced upon you.
5	An amount of Rs.482550/- (Rupees Four Lac Eighty Two Thousand Five Hundred Fifty Only) and Rs. 19500/- (Rupees Ninetee Thousand Five Hundred Only) deposited by you vide Bank Guarantee No. 0898IPBG2211004 and CDR No. 3090973 date 25.11.2022 respectively issued by JK Bank Branch Harnag Anantnag is being retained as Performance Security Deposit and shall be released only after successful completion. & expiry of DLP of the work. Total Amount Retained Rs. 502050/- (Rupees Five Lac Two Thousand & Fifty Only)
6	The date of start of work shall be reckoned within one week from the date of issuance of this Contract allotment.
7	The work shall have to be completed within a period of 60 days from the date of issuance of allotment mentioned above.
8	The work be executed strictly in accordance with approved proposals & in close supervision of the Engineer I/C of both wing of Civil as well as Mechanical.
9	After testing and commissioning of work, the bidder will have to make a trial run of the work for a period of 03 months during which the bidder will have to operate and maintain the executed work to the full satisfaction of the Department.
10	The defects Liability period shall be for a period of 12 Months which shall commence after the successful completion of Trial run. The bidder shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP. In case any defect remains unattended by the firm at the completion of DLP, the department may extend the DLP for such time as deemed fit for getting the defect rectified subject to a maximum ceiling of 6 Months.
11	The bidder shall be responsible for the time and proper setting out of all the works and for the correctness of the positions levels, dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection therewith.
12	The rates are including the Charges for Submission of progress, Geo-tagged photographs, vediographic record through the professional person before, during & after construction and progress reports in both hard and soft copies. Taking Cross-Sections/ L- Sections by Auto Level / ETS before and after execution. Preparation of work abstract of executed work preparation of bills besides, the rates quoted/alloted are inclusive of taxes and the taxes viz. GST/Income tax/Cess etc. shall be deducted at source from running account bills.
13	All the Cement, R.C.C, Steel, plumbing and other works shall be strictly as per relevant IS Codes, CPHEEC porms/requirements/specifications and normal PWD practices.
	You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at your own costs. The cost of conducting all tests shall be borne by the contractor and shall be deemed to have beer included in the item rates for various items of work and percentage rate tendered. Nothing extra shall be payable on this account.
	You have to furnish the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation and quality control tests done at your level duly vetted by DIQC as per terms & conditions of the NIT. The vetting charges for the design if any are to be borne by you.
ļ	The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency shall check the quality of works executed by the agencies, quality of materials used for construction and quality of matchinery installed in each scheme. The TPIQM's role shall be that of an assistant to the Employer's Representative for the burpose of monitoring and evaluation of the performance of the Contract during the Contract Period.
d	In item of work not included in the BOQ but required for the completion of the work, shall be executed by the contractor, as irected by the Department. Such extra item shall be paid at J&K SSR 2020 rates with allotted appreciation/depreciation of the ontractor. In case such item does not figure in J&K SSR 2020, the same shall be paid as per the current market rate analysis be approved by the competent authority.
18	to price escalation will be paid for completion of the work within stipulated time or extended date of completion due to any eason whatsoever.
	o extra claim towards any type of tax, freight, etc shall be entertained whatsoever.
THE RESERVE AND ADDRESS OF THE PERSON NAMED IN	o mobilisation advance shall be paid.

St. HD

O To



1	Retention money/Security deposit shall be 10% of the contract value. The Security Deposit is to be recovered at the rate of 10% of bill amount from Running Account Bills and shall be released after completion of the defect liability period.
-00	
22	In the event of allottee failing, declining, neglecting or delaying the supplies / works or in the event of any damage occurring or being caused by the allottee or in the event of any default or failure by the allottee in complying with any of the terms and conditions of the contract, the Department abelievely applicable with a supplier of the contract.
	terms and conditions of the contract, the Department shall with or without prejudice to any other remedies available to it
	a) Terminate the contract after 15, days' notice and/or
	b) Recover the amount of loss caused by damage, failure or default, as may be determined by the department
	c) Recover the extra cost if any involved in all all and involved in all all all and involved in all all all and involved in all all all all all all all all all al
	d) Impose Liquidated damages on account of delay beyond the schedule completion period to the tune of 0.5% of the delayed portion of contract every week but not exceeding 10% value of the contract.
	delayed portion of contract every week but not exceeding 10% value of the contract.
	e) Forfeit the performance security and blacklist the firm
23	All risks of loss or damage to physical property and of personal injury and death which arise during and in consequence of the performance of the Contract are the responsibility of the Bidder.
24	Any failure or commission, to carry out the
	The solid of the parties inclining war or a state of the solid of the parties inclining war or a state of the solid of the parties inclining war or a state of the solid of the parties inclining war or a state of the solid of the parties inclining war or a state of the solid of the parties inclining war or a state of the solid of
25	The bluder Stidle in connection with All 1
26	
	be held responsible for and make good any loss or injuries by fire or other causes / theft and shall hold the Government proper care and misconduct on the proper care and misco
	proper care and misconduct to persons or damage to property happening from
	proper care and misconduct on the part of the bidder, or any of his employees, during the execution of work. The bidder shall be responsible for the compensation if any, to labour under the existing #abour laws of the country.
27	In the event of the death
	In the event of the death or insanity or insolvency or imprisonment of the bidder or where the bidder being a partnership or Engineer-in-charge, be terminated by notice in writing partnership or the contract may in the contrac
28	firm becomes dissolved or being corporation goes into liquidation, voluntary or otherwise, the contract may, in the option of the damage caused to the work during execution.
20	The damage caused to the work during execution or prior to actual completion of work/handing over of the project before defect cost.
00	liability period due to any natural calamity/human interference, the same shall be got restored/made good by you at your own
29	
	No damage is caused to existing structures like roads, bridges, buildings or other public utilities as a result of construction of good by you at your own cost.
30	damage is caused to existing structures like roads, bridges, buildings or other public utilities as a result of construction of good by you at your own cost. Adequate precaustions be taken for environment and a minimum of the during the duri
and the same of th	to during execution of work
20	No objection certificate from the concerned regulatory authority
32	No objection certificate from the concerned regulatory authority may also be sought wherever required. All other terms & conditions will remain same as laid down in the concerned regulatory authority may also be sought wherever required.
	All other terms & conditions will remain same as laid down in the original NIT /SBD/GFR-2017/ Procurement Manual 2019/Operational guidelines for JJM.
	Procurement Manual
	ad Draftsman Technical Draft Date Col-12
fly He	ad Draftsman
all.	SE/Hyd/Cory
200	SE/Hyd/Cors/ 9229-32
ed:	Hydraulic Circle Apparent
ed:	W Lib. A called Jag/Kulnah
ed:	Chief Engineer III and
by to the :-	SE/Hyd/Cors/ 929 32 Chief Engineer Jal Shakti (PHE) Department Sringgar for for
by to the :-	your authorisation issued the Department Srinagar for favour information.
by to the :-	your authorisation issued the Department Srinagar for favour information.
by to the :-	your authorisation issued the Department Srinagar for favour information.
by to the :-	obstited Development Commissioner Ananthag (Chairman District Jal Jeevan Mission) for information. D4_14-2022 D4_14-2022 D5_14-2022 D6_14-2022 D6_14-2022 D6_14-2022 D7_14-2022 D7_14-2022 D8_14-2022 D8
by to the :-	obstited Development Commissioner Ananthag (Chairman District Jal Jeevan Mission) for information. D4_14-2022 D4_14-2022 D5_14-2022 D6_14-2022 D6_14-2022 D6_14-2022 D7_14-2022 D7_14-2022 D8_14-2022 D8
2 2 3 4	Department Srinagar for favour information. Od 11-2022 Executive Engineer Jal Shakti (PHE) Division Bijbehara for information & necessary action. He will ensure the completion of
2 2 3 4	Department Srinagar for favour information. Od 11-2022 Executive Engineer Jal Shakti (PHE) Division Bijbehara for information & necessary action. He will ensure the completion of
2 2 3 4	Department Srinagar for favour information. Od 11-2022 Executive Engineer Jal Shakti (PHE) Division Bijbehara for information & necessary action. He will ensure the completion of
2 2 3 4	Department Srinagar for favour information. Od 11-2022 Executive Engineer Jal Shakti (PHE) Division Bijbehara for information & necessary action. He will ensure the completion of
2 2 3 4	Department Srinagar for favour information. Od 11-2022 Executive Engineer Jal Shakti (PHE) Division Bijbehara for information & necessary action. He will ensure the completion of
2 2 3 4	obstited Development Commissioner Ananthag (Chairman District Jal Jeevan Mission) for information. D4_14-2022 D4_14-2022 D5_14-2022 D6_14-2022 D6_14-2022 D6_14-2022 D7_14-2022 D7_14-2022 D8_14-2022 D8

Franting g g M

	0	1/2		nanungs	y July
UEEIG	CE OF THE EXECUTIVE ENGINEER	PAL U	INISIUN VUISIVI	J RI IRFHAI	PΛ 75
					\A
O Gh Moh	d Comin	No/PHB:		01-04	
		Dated:		-12-2022	
R/O Hard Si		GST. No	:- 01AM	SPG1053H1	ZH
	RAY/CE/KCC/PDC/2009-10				
Tender ID:	2022_PHE_173796_16				
Adv. Cost	15. 55.10 2465			: 88.73 Lacs	
Subject:-	Construction and Successful Commissioning of 0.50 lac gallons SSFP 0.15 and 0.25 lac gallons SR including PST, 06 No. Sluice Chambers & Revamping of existing SSFP WSS Cherpora Pakhtoonpora Under Jal Jeevan Mission Part 2nd				
	1. Your tender received in response to this office i	Fresh: e-NIT	No. 24 OF 2	2022-23 NO/PHE/	3046-
	66Dated: 11 -06-2022 02. Read with Corrigendum No: NO/PHB/3630-4	5 Dated: 23.0	06.2022		
	03. Read with Corrigendum NO/PHB/4323-43 Da	ated: 05.07.2	2022		
Reference	04. Read with date Extension NO/PHB/4471-95 D	Dated: 12.07.	2022		22 22 422
and or other	05. DJJM /District Development Commissioner Ar	nantnag's Au	thorization	No:DDCA/JJM/20	22-23/38
	60 Dated: 30.07.2022 06. Superintending Engineer Hyd.Circle Anantnag	g's Authrozat	ion Letter	No:SE/Hyd/4590	Dated:
	03.08.2022				
ha.	07.This office letter of intent No/PHB/6761-68 D	ated: 03.08.2	022	al mante ta banch	u fived
	or & on behalf of Lt. Governor of J&K (UT), c	ontract for	above note	ed work is hered	y Tixeu
	following quoted rates :- Description of Work / Item(s)	Qty	Units	Rate quoted by the	Amount
SI.No		20		Bidder	
1	Earth work in excavation over areas exceeding 30 cm and upto 1.5 m in depth 1.5 m in width as well as 10 sqm on plan inculding disposal of excavated soil upto1mt from cutting edge.			Ì	
2	a) All Kinds of Soil	288	Cum	436.00	125568
3	b) Ordinary Soft Rock	102.01	Cum	841.60	85852
4	Earth work in excavation by manual means over areas (exceeding 30 cm and 1.5m in depth, 1.5m in width as well as 10 Sqm on plan) incl. disposal of excavated earth up to 1m from cutting edge, disposed earth to be levelled & neatly dressed in all kinds of soil.	1004.46	Cum	539.35	541756
5	Extra for every additional lift of 1.5m or part thereof.	522.5	Cum	81.65	42662
-6	Providing and laying of dry stone soling tightly hand packed on horizontal levels 50 mm thick including all carriages	72.20	Cum	1320.00	95304
7	Providing and laying in position cement concrete of specified grade excluding the cost of centring & shuttering all work up to plinth level (1:3:6) 1 cement, 3 coarse sand, 6 graded stone aggregate 20 mm nominal size) crushed.	31.75	Cum	5399.02	171419
8	Providing and laying of 1:4:8 nominal mix cement concrete using 40 mm aggregate	55.41	Cum	4861.84	26939
9	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centring, shuttering, finishing & Reinforcement all work up to plinth level (1:1.5:3) 1 cement, 1.5 course sand, 3 graded stone aggregate 20 mm nominal size)	29.9	Cum	7800.76	23324
10	Providing/Laying in position Machine batched design mix of M-25 grade for Reinforced Cement Concrete excluding cost of centering, shuttering & reinforcement			-300 -	0
11	All works upto Plinth Level	63.55	Cum	7911.25	50276
12	Above Plinth Level upto floor V level	117.51	Cum	9302.98	109319
13	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth & string courses, fillets, columns, pillars, piers, abutments, posts & struts etc. up to floor five level excluding the cost of centring, shuttering, finishing &	34.94	Cum	9408.14	32872



20mm nominal size).

14

excluding the cost of centring, shuttering, finishing & reinforcement 1:1.5:3 (1cement, 1.5 Course sand, 3graded crushed stone) aggregate 20mm nominal size.

Reinforced cement concrete work in arches ribs domes vaults shells folded plate and roofs having slope more

than 15° up to floor five level excluding cost of centring,

shuttering, finishing and reinforcement with 1:1.5:3 mix [01 cement, 1.5 course sand, 03 stone aggregate of

Cum

17.46

10404.52

181663

	all and the second			
floors, roofs having slope up to 15degree, landings,			0040.25	138679
sills, stair cases and spiral stair cases up to floor five level excluding the cost of centring, shuttering, finishing and reinforcement in 1:1.5:3 mix (1 cement, 1.5 coarse sand, 3graded stone aggregate) 20 mm nominal size.	1	Cum	9849.35	138079
Centring and shuttering including strutting				
a) Foundations	117.98	Sqm	262.30	30946
b) Walls				734212
c) Beams, Lintels etc				15086
d) Suspended Floors, Roofs, Landings etc				50111 161644
				26370
	108.83	R.M	242.50	203/0
	16 22	Sam	52.46	851
7				40046
		_		3017
		_		78115
12 mm thick cement plaster in 1:3 mix.(1 cement, 3				301479
fine sand). 12mm thick cement plaster in 1:4 mix (1 cement, 4	677.03		325.45	171786
fine sand). Providing Reinforcement to RCC works including bending, binding, cutting, straitening and placing in			87.18	1879339
position complete. Extra for providing and mixing water proofing			57 90	
cement as per manufacturing specifications Structural steel works welded in builtup sections,	1320.00		37.70	
hoisting, fixing in position and applying a priming	1570	Kg	102.14	160360
Removal of old Filter media from the filtration plant including stacking of same safely within 50	67.9	Cum	800.00	54320
Providing, Laying & Placing of Stone Slabs of nominal thickness 40 mm thick (undressed)	54.3	Sft	260.00	14118
source -Gravel (Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including all carriages complete job	32.1	Cum	7700.00	247170
source -Sand -Coarse filter Sand in filter beds	19.7	Cum	7968.00	156970
Laying back the Filter media after thoroughly washing, cleaning, drying and laying in layers of suitable grades	24.6	Cum	1000.00	24600
site requirement with rubber insertions, bolts, nuts, extension rods, supporting pedestal with base plate				
a) 150 mm Dia Sluice Valve	6	No	26720.00	160320
b) 100 mm Dia Sluice Valve		No	17210.00	68840
of 0.63mm thick at constructional joints including		Sqm	800.00	21360
Steel work welded in built up sections/framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladders, railings,	1990	Kg	146.63	291794
Back-filling of available excavated soil into the trench excluding rock.	514.69	Cum	198.70	102269
degree, Tees, Collars etc be fabricated from 6 mm nominal size M.S Plate as per site requirement incl cost of welding & painted with anti corrosive red	800.00	Kg	147.82	118256
Carriage of material from source to dumping site at				
	linkrup	ent :	1	45602
la) cement/steer (15KM)	150.182	M.T	303.65	45603
	Roors, roofs having slope up to 15degree, landings, balconies shelves, chajjas, lintels, bands, plan window sills, stair cases and spiral stair cases up to floor five level excluding the cost of centring, shuttering, finishing and reinforcement in 1:1.5:3 mix (1 cement, 1.5 coarse sand, 3graded stone aggregate) 20 mm nominal size. Centring and shuttering including strutting propping and removal of form work. a) Foundations b) Walls c) Beams, Lintels etc d) Suspended Floors, Roofs, Landings etc e) Arches, Domes etc upto span 6mtr h) Edges of Slabs & breaks in floor walls Extra for Shuttering in Circular Works ii) Foundations ii) Walls iii) Beams iv) Extra for Domes Exceeding 6mtr Span 12 mm thick cement plaster in 1:3 mix.(1 cement, 3 fine sand). 12mm thick cement plaster in 1:4 mix (1 cement, 4 fine sand). 12mm thick cement plaster in 1:4 mix (1 cement, 4 fine sand). 12mm thick cement plaster in 1:4 mix (1 cement, 4 fine sand). Structural steel works welded in builtup sections, trusses and framed works including bending, fixing in position and applying a priming coat of approved metal primer complete. Removal of old Filter media from the filtration plant including stacking of same safely within 50 Mtr lead Providing, Laying & Placing of Stone Slabs of nominal thickness 40 mm thick (undressed) Supply & Filling of Filter Media from approved source -Gravel (Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including all carriages complete job Supply & Filling of Filter Media from approved source -Gravel (Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including all carriages complete job Supply & Filling of Filter Media from approved source -Gravel (Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including all carriages complete job Supply & Filling of Filter Media from approved source -Gravel (Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including all carriages complete job Supply & Filling of Filter Media from approved steel primer	Centring and shuttering including strutting propping and removal of form work. a) Foundations b) Walls c) Beams, Lintels etc d) Suspended Floors, Roofs, Landings etc e) Arches, Domes etc upto span 6mtr h) Edges of Slabs & breaks in floor walls Extra for Shuttering in Circular Works i) Foundations 16.23 ii) Walls iii) Beams 77.46 ii) Walls iii) Beams 30 iv) Extra for Domes Exceeding 6mtr Span 12 mm thick cement plaster in 1:3 mix.(1 cement, 3 fine sand). 12 mm thick cement plaster in 1:4 mix (1 cement, 4 fine sand). 12 mm thick cement plaster in 1:4 mix (1 cement, 4 fine sand). Providing Reinforcement to RCC works including bending, binding, cutting, straitening and placing in position complete. Extra for providing and mixing water proofing material in cement cone work in doses by weight of cement as per manufacturing specifications Structural steel works welded in builtup sections, trusses and framed works including cutting, hoisting, fixing in position and applying a priming coat of approved metal primer complete. Extra for providing and mixing water proofing material in cement cone work in doses by weight of cement as per manufacturing specifications Structural steel works welded in builtup sections, trusses and framed works including a priming coat of approved metal primer complete. Extra for providing and mixing water proofing material in cement cone work in doses by weight of cement as per manufacturing specifications Structural steel works welded in builtup sections, trusses and framed works including all carriages complete job Supply & Filling of Filter Media from approved source -Gravel (Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including all carriages complete job Supply & Filling of Filter Media from approved source -Gravel (Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including all carriages complete job Supply & Filling of Filter Media from approved source -Gravel Graded Gravel size ranging from 6 mm to 65 mm) in filter beds including	Incors, roofs having slope up to 15degree, landings, balconies shelves, chajlas, linterlis, hands, plan window silk, stair cases and spiral stair cases up to floor five level excluding the cost of centring, shuttering, finshing and reinforcement in 1:15.3 mlx (1 cement, 1.5 coarse sand.) Signaded stone aggregate) 20 mm nominal size.	lacones selves, chajas, linets, bands, plan window sills, stair cases and spiral stair cases up to floor five level excluding the cost of centring, shared, plan window sills, stair cases and spiral stair cases up to floor five level excluding the cost of centring, shared store aggregate) 20 mm ominial size. Centring and shuttering including strutting propping and removal of form work. a) Foundations b) Walls 1279.45 Sqm 573.85 O) Beams, Lintels etc 30.00 Sqm 502.85 O) Suppended Floors, Roofs, Landings etc 77.46 Sqm 262.30 Sqm 573.85 O) Arches, Domes etc upto span firmt 77.46 Sqm 2086.80 Sqm 114.77 Ib) Edges of Slabs & breaks in floor walls Extra for Shuttering in Circular Works II) Beams 30 Sqm 100.57 III) Beams 30 Sqm 100.57 III) Beams 30 Sqm 100.57 Tr.46 Sqm 1008.45 III) Beams 30 Sqm 100.57 Tr.46 Sqm 1008.45 III mithick cement plaster in 1:3 mix (1 cement. 3 fine sand). Izmm thick cement plaster in 1:4 mix (1 cement. 4 fine sand). Izmm thick cement plaster in 1:4 mix (1 cement. 4 fine sand). Izmm thick cement plaster in 1:4 mix (1 cement. 4 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 4 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine sand). Izmm thick cement plaster in 1:5 mix (1 cement. 5 fine

Rates & Q		Deduct @ 5	Total 5.30 % of a	all items	9370073 497073 8873000
			Total		9370073
	a) to min tigging and (attended one that toda)			0,1,00	
	(a) To min riggi og atto (a vorage over the read)		Guin	0,110	
54	d) 40 mm Aggregate (average 500 Mtr lead)	33.64	Cum	671.55	22591
53	c) Sand & 20 mm aggregate (average lead 500 Mtr)	378.18	Cum	621.21	234929
52	b) Steel average Lead 500 Mtr	22.421	M.T	605.96	13586
51	a) Cement average lead 500 Mtr	127.699	M.T	282.10	36024
50	Extra Carriage of Pipes from nearest dumping site to actual site of work by manual labour for				
49	a) 10 mm riggi egate (55km	33.64	Cum	599.28	20160
48	c) 20 mm Aggregate (35 km	228.78	Cum	501.65	114767
47	b) Sand (35KM)	149.45	Cum	551.33	82396

Terms	& Conditions	la
1	The cost of work of	auld in ma acces

Terms &	Conditions
1	The cost of work should in no case exceed beyond Rs. 88.73 Lacs (Rupees Eighty Eight lac seventy three thousand only
2	The work shall have to be completed within a period of 60 days from the date of issuance of this allotment order failing which penalty upto 10% of the total value of contract shall be imposed upon you.
3	Earnest money deposited by you vide CDR No:3004218 DT: 10.05.2022 RS:191500- and No3090816 Dated: 10.08.2022 Rs: 94000/ successful completion of the work and expiry of defect clause.
4	Client/Paying Authority: The client/paying authority shall be the concerned Executive Engineer. Besides, the supervision of the various components of the work shall be carried out by the concerned Engineers of the Division/TPIQM consultants under the overall coordination of the concerned Superintending Engineer Hydraulic Circle/Executive Engineer/Assitant Executive Engineer
5	Terms of Payment: Payment can be claimed on a monthly basis subject to the amount of bill being proportionate to the value of wo viz a viz completion period within a variation of -5%.
6	Warranty: The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of subject work. If during warranty period any malfunctioning, defects arise, the firm /joint venture shall have to rectify the same within a period of ten days of receipt of intimation. In case of any failure on the part of the firm/joint venture to remove the defect, the Department may get the defects removed/ repaired by any other agency and cost thereof shall be recovered from the firm / joint venture and shall be recommended for further punitive action as governed under the relevant clause of the contract including blacklisting.
7	Trial Run: After testing and commissioning of work, the bidder will have to make a trial run of the work for a period of 03 months during which the bidder will have to operate and maintain the executed work to the full satisfaction of the Department.
8	Defects Liability Period (DLP): The defects Liability period shall be for a period of 12 Months which shall commence after the successful completion of Triarun. The bidder shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP. In case any defect remains unattended by the firm at the completion of DLP, the department may extend the DLP J such time as deemed fit for getting the defect rectified subject to a maximum ceiling of 6 Months.
9	Liquidated damages (LD) In the event of allottee failing, declining, neglecting or delaying the supplies / works or in the event of any damage occurring or being caused by the allottee or in the event of any default or failure by the allottee in complying with any of the terms and conditions of the contract, the Department shall with or without prejudice to any other remedies available to it under any law for the time being enforce in the allottee of the contract after 15 days notice and/or b) Recover the amount of loss caused by damage, failure or default, as may be determined by the department.
	c)Recover the extra cost, if any, involved in allotting contract to other party. and/or d)Impose Liquidated damages on account of delay beyond the schedule completion period to the tune of 0.5% of the delayed portion of and/or allowers are accounted to the contract.
10	e)Forfeit the performance security and blacklist the firm. Force Majeure: Any failure or commission to carry out the provision of the contract shall not give rise to any claim by the department or bidder one against the other if such failure of commission arises from the 'ACT OF GOD' which shall include all natural the control of the parties including war, or a state of insurgency.
11	Specifications of job: Tenderer/s must execute the works as per the requirements/specifications detailed in the relevant/applicable IS code/s.
12	Bidder Dying, Becoming Insolvent Or Imprisoned: in the event of the death or insanity or insolvency or imprisonment of the bidder or where the bidder being a partnership or firm becomes dissolved or being corporation goes into liquidation, voluntary or otherwise, the contract may, in the option of the Engineer-in-charge, be Safety of Govt. Infrastructures:
13	Safety of Govt. Infrastructures: The bidder should ensure the safety of the water supply lines, sewer lines, telephone cables, power cables, storm water drains etc., pipe laying immediately, the same will be got done by the Department at the risk and cost of the allotee.

4	Allottee's risk and insurance: All risks of loss or damage to physical property and of personal injury and death which arise during and in consequence of the performance of the Contract are the responsibility of the Bidder.
15	Work under Bidders Charge: From the commencement of the work to the completion thereof the same shall be under the bidders charge. The bidder shall be held responsible for and make good any loss or injuries by fire or other causes / theft and shall hold the Government harmless for any claims for injuries to persons or damage to property happening from any neglect, default, want of proper care and misconduct on the part of the bidder, or any of his employees, during the execution of work. The bidder shall be responsible for the compensation if any, to labour under the existing labour laws of the country.
16	Setting Out of Works: The bidder shall be responsible for the time and proper setting out of all the works and for the correctness of the positions, levels, dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection therewith.
17	Labour: The bidder shall make his own arrangements for the engagement of all types of the labour, required for the execution of the job. No workman below the age of 18 years shall be employed on the works. Also the bidder shall comply with the provisions of all labour laws and the rules framed there under.
18	Storage at Site: The bidder shall at his own cost make arrangements for proper storage especially towards Rain and Snow damages of the equipment/ materials at sites till its erection/completion. For the purpose the bidder shall, with the approval of Engineer in charge construct temporary storage accommodation for equipment/ material at site for which land shall be provided by the department near the site of work.
19	Watch & Ward of Works: The bidder shall in connection with the work provide and maintain at his own cost all lights, guards, fencing and watching, when and where necessary or required by the Department for the protection of the work or safety and convenience of the Public etc.
20	Final Acceptance: The equipment/work shall be accepted by the Department only after the system has been tested and has performed satisfactorily in all respects, at site, in accordance with the provisions of the contract.
21/	Cleaning Up: On completion of the works the bidder shall clear away, load into trucks or any other transport and remove from the site all constructional plant, surplus materials, dismantled or otherwise, earth and rubbish and temporary works of every kind and leave the whole of the site and works clean and in a workmanship condition, to the satisfaction of the Department.
22	Power and Water Supply: The bidder/firm shall make his own arrangement, at his own cost, for all lines, individual power points, etc. to the machinery and plant required by him for the erection, testing and commissioning of the equipment ordered on him. The bidder shall pay for all electrical energy consumed by him for this purpose at the prevalent electricity tariff in J&K State. Such charges shall be paid by the bidder/firm directly to the Power Corporation and the bidder's final bill shall be settled only after he gets a no outstanding certificate from the concerned Electric Division. The Division shall not be responsible, and the bidder shall have no claim whatsoever for any interruption in power supply or voltage fluctuation or total cut off at the site. The bidder/firm must provide an alternative source of power, at his own cost, at the site for completion of the work. The bidder shall make his own arrangements for water to be used for the execution/Hydro-testing/ water tightness Test/ Curing, labour colony, Site Office etc.
23	Agreement: As soon as letter of award is communicated to the firm, the contract shall be complete and binding upon them, the bidder/firm shall also be required to execute an agreement with the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, prevent this contract from being enforced against the firm and the date of delivery of the material/completion of works shall be reckoned from the date of issue of the letter of award in favour of successful firm.
24	Tender quantities: The advertised quantities in the tender documents are tentative and subject to increase or decrease, depending upon actual requirement at site as per the design and other considerations. The successful bidder shall have no claim/reservation on this account and the decision of the department shall be final and binding.
25	Third Party Monitoring: The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency shall check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in each scheme. The TPIQM's role shall be that of an assistant to the Employer's Representative for the purpose of monitoring and evaluation of the performance of the Contract during the Contract Period.
26	All other terms and conditions as laid down in form No.25 of P.W.D. shall remain in force and binding on successful tenderer.
Copy to the	
1	Chief Engineer Kmr PHE Department Srinager for favour of Information please.
2.	District Dev.Commissioner Anantnag for favour of information please
3	Superintending Engineer Hyd. Circle Anantang for favour of information
4	Assistant Executive Engineer PHE Sub –Division Anantnag for information & necessary action. He will ensure the completion of work within the stipulated time period and strictly in accordance with approved proposals/approved DPR Absract, besides the amount of work does not exceed beyond the provision of allotment in any case for which he shall be personally responsible.
6	Technical Officer Divisional Office for information
7	File Concerned

